<H1 EHTAIxER> —HEA-
[EA] Oz - KXo fiF

(1) THepi=
a:b=c:dDLHIT, 2ODUEESTHREATLZXZEHIXE WV,

............ I @:b=c:d) OMHE ]

S A
@ FLOEAF L L DI > % A A L 0 5

— %ziz’ﬁﬁfwjo
d @ : bl =0 : @
@ WNIEOFE & INEOFENE L

oo : z H HEW )
— bec=ad 23V Lo DRI 5 IE A PNIE L D

(1] IRDEEFIT, x DIEZR D72 SV,

oo 2 . 1_45.
(1) 8:12=2:x (2) 55 12 : X
[ fii ]
(1) HofERE LW & LD (2) (NHOFE) = (A EOFE) LY
8 _2 2,_1
12 X 3% 2><12
2_2 2,
3 X 3% 0
x=3 2x=18
Xx=9

(2) TR DfE]
TR A RN ORI DA TR DOIEE W D, TRRXDOHN G2 5N TV 5 ME T,
G2 oniczTRAICRALIZE & HTRADBKY LS Z &2 LT,

(] x iZOWTOHRRX 3@a—x)=7x+14 OFENR x=1 DL &, aDEEZRDRE W,

(] B2 bl TR x=1 2N

3(a-1)=7x1+14
3a-3=7+14
3a=24
a=8

Se BernrsEET



